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PART-1

(Common to All Candidates)

Which of the following is long wnve radintions ?

(A) X-ray w’/Gﬂm

(C) Visible (D) In@

2. Hardness of minerals is measured ;

R
(A) Talc Scale @ ,. ‘ Moh's Seile
(C) Clastic Scale + ©r Boaufort's Scate
3. Pulmonary Qauled by :
¥
(AY Car \onoxide (B) Sulphur dioxide
(D) Methane

' (C) Nitrous oxide

4. ‘The detector used in atomic absorption spectrophotometry is :

(ﬁ/ Flame ionization detector ~ (B) Photomultiplier tube

A (C) Electron eapture detector (D) Photodiode

& TBC : YRS/JSO/2023 8 2




5. For & 2erv-order reaction, the plot of [A]' versus ! for the reaction 2A —» B
is linear with a :
{ﬂr;'oaitiva slope and zeT0 intercept
(B) Positive slope and non-zero intercept
(C) Negative slope and zero intercept C)
® .
D) Negnluve alope and non-zero i g - ‘
6. Which of the following mg*~ {"eryosphero has the 1ongo-t life ?
" (A) Sea ice (B) Icebergs

ﬁ@ 0 e

ey
ine total hardness of
7. Which &luﬂug indicators is uud.to detﬂ___ R

|

water ?
(A) Methyl orange (B5 Murexide
'_
(C) Erichrome black T (D)E‘Phenol_phthalein
TBC : YRS/JS0/2023 | 3 PT.O
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Consider the following renctiony ;
‘l) P(‘{Oll)g'.' 4 2“- - "‘“'.’ + ml';.q‘ E“ ” -0.877 v

() AgBriaq) + ©™ = AR + D, E* = -0.071 V

@) AP* 4 30 = Al,, E* = _1 66 v

The overall cell reaction for the cell in di spontancous change
would be : 0 '

(A) Cell with (1) and (2) Fe redy Cell with (1) and (3) Fe reduced

m)-/ Cell with (1) and (2) Fe ﬁd Cell with (1) and (3) Fe oxidised

() Cell with (1) and (2) g‘; & Cell with (1) and (3) Fe reduced
(D) Cell with (1) and oxidised & Cell with (1) and (3) Fe oxidised
The treatment 1 to remove non-biodegradable organic poll}itanta and
mineral nuthi m waste water is called :

(A) Secon y treatment (B) Lagoons
-' (D!/ Imhoff tank (D) Tertiary treatment

10.

In a system A(s) = B(g) + 2C(g), doubling the equilibrium concentration of
B wlll cause the equilibrium concentration of C to change to : .

(A) 'I‘wo tum itl ongmnl value LB{ One-half its original value

fﬁ‘i’aﬂglnnl voluo (D) U2 times the original value



11. As part of Natlonnl Climnte Change Policy yndian government is planning
Lo raise the installed capncity of ronewal), energy by the year 2030 to :

(A) 350 GW (B) 200 gw

UC) 260 GW M) 175 gw

12. Soil fulvic acids are strong chelators of .

(A) Iron (1) (B) lvg@

(27 Both Iron (I and Iron (IID (D) p

® 3

13. The objective of “Paris Agrecme

(A‘f To protect biodiversity ‘E the da!‘orest.atnon o!‘ the world's mnfomtl

(B) To keep global re rigse well below 2°C pre-industrial levels and

to pur;u hmlt wanmng to 1 5°C

(C) To li \ evel rise to 3 feet above current levels
(D) To puvsue a goal of 100% clean, renewable energy

| 14. Which alga can be used as food for the human being ?

(A) Chlorella (B) Polysiphonia ° .
(C) Ulothrix ﬂ)‘( Spirogyra
TBC : YRS/AJS0/2023 ° 5 &

P.T.0
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18. What percentage of the global greenhouse gy, emisaions do- - 11 transportation

sector emit 7
(A) 1% "'1/141.
(C) 33% M 70%

20. Which among the foﬂﬂ'iﬂ’ ferti]izer. i least .M the .cn'l-pH ?
A i e

(A) Urca (n) n.@mphiu

K%
(C) Ammonis riate of potash

21. The osmotic pressure of an -qw on containing 30.0 g of a newly-isolated

protein in one liter of ""‘% tory at 25°C. What is the spproximate
molecular weight of in g/mol ?7

(A) 333 @ (B) 44000
& 4000 \ (D) 58

22. Which of following is not a feature of the Eutrophic lakes 7

(A) They are generally occupied by blooms
(B) They have high plant nutrient flux
(C) They have low primary productivity

(P’/Thgy are dominated by blue green algae
TBC : YRS/JS0/2023 7 P.T.O.



23. With respect to environment Bcience, full form of SPM is
(A) Suspended Partial Matte,
(B) Suspended Particulate Mattea,

”

(€ Suspended Pollutant Mattey

(D) None of the above O

24. Global warming can be controlleq by . 0

(A) Reducing deforestation, cuttj u of fossil fuel
@ Increasing deforestation, @ down the growth of human population
AC) Increasing deforestatiy uc";ng efficiency of W usage
(D) Reducing refo @inming the use of fossil fuel ]

25. The major @ (Benzo-apyrene) in atmospheric environment is :
(A) Re ial%wood burning (BY” Gasoline -
(C) Coal tar D) Cooked meat

26. Which of the following species in the atmosphere is called atmospheric

detergent ?
(A) Chlorine radical (B) Hydroxyl radical
(C) Methyl radical (DY Ozone radical

TBC : YRS/AJSO/2023 8



'Y

2. T . cell membrane :
‘l({ Comaing metabolic enzymes
(B) Is selectively permeable
(C) Regulates the entry and exit of mnteriallO
(D) Contains proteins and phospholipids ()

T
28. Among the following, the irreversible ath of citric acid cycle is :

s e e e —

{A)/Oxidation of “'K""Q@S S CaATE oI,

v

(B) Formation of via cis-Aéoi:iimte

%

(C) Oxi

\ Succinate to Fumarate

D o tior! of Malate to Oxaloacetate

29. Which of the following is used as antiknock compound in gasoline ?

(A) Tetraethyl lead (B) Trimethyl lead
(G)/ Triethyl lead (D) None c;f these
TBC : YRS/JSO/2023 9
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the reaction !

30, Calculate A Hyrax fof
: -_33'18 le'I'IOI"

(g)—NO;(g) s, Hipax =

%N.(‘,‘O.

| -1

Given : Cpm(NO3R) = 37.20 JK mol
1 1

Cpm(O28) = 29.36 JK 'mol”

1 1

C, Nz g) = 20.13 JK 'mol”

(B) 36.38

(A) 33.65 kJmol™}
af -aa@ ol™!

(C) -36.38 kJmol™}
uce production of @ﬂuoromﬂ:nm Was

31 L!a:u-ulmmmltomd =
BJ< {86

(A) 1985
) 1982

32. Among the following, th statements for the large freeenergy on,
associated with hyd.r@ action of ATP are :
ATP + ADP* + PZ* + H* AG = —30 ki/mol
() The

(C) 1987

paration that results from hydrolysis relieves electrostatic
among the four negative charges on ATP.

(i) Greater degree of solvation (hydration) of the products Pi and ADP relative

to ATP.
(iii) The product inorganic phosphate (Pi) is stabxl:zed by formation of a
symmetrical resonance hybrid.

(A) (i) and (i) (B) (i) and (iig)

© (i) mnd (@) cm/au of these




33. Which of the \rien emits the most carbon dioxide 7

(A)/cmn. (D) USA

(C) UK (D) Russia

34. Drainage basins with thousands of streams and ri ning into them are

also called : ' < ,

(A) Watersheds {fna

Calderas
|
ture becomes nearly equal to the d

(C) Runoff zones

ew point,

35. When the atmospheri

then relative h ditw. is equal to :
%

(A) 100% \ (B) 50%

(C) 90% (D) 0%
————

36. Which one of the followirig is not a bicindicator of water pollution 7
(A) Sewage fungus (B‘J/Stone flies

(C) Sludge-worms (D) Blood-worms

TBC : YRS/AJS0/2023 . 11 . P.T.O.




37.

Gas moleculos that absorh tharmp) jr o 4 endiation and are present In large

quantity to change climato *Y®lom aro known as :

(A) Alpha radiations (D) Bota radiatighs

C
(C) Ozone gases M@ Gre ol

Which tion found o
vegota ) n rocks ang cduld be a low cost way to monitor

urban pollution ?

10
(A) Mosses @ ) Lichen

(C) Algae

. @ Both (B) and (C)
N
39. In le, te dehydrogenase complex is comprised of a cluster of
................. enxymatically active subunitsand .................... coenzymes respectively.
(A) Three, Three (B) Five, Three
tﬂ:‘( Three, Five (D) Five, Five
TBC :-gnsr.rsm 12



40.

41.

42.

The INCOI 11« | tatement regoarding fermoneation of soybeans to produce

SO0y gauce =

(AJ/ Because the process is carried out in (he pbsence of oxygen, pyruvate |s

reduced to lactic acid and ethano|
(B) If oxygen were present, pyruvate would be oxi '®:ys.caa and then

@Somc of the acetyl-CoA, however, would be hydrolyzed to acetic acid
&
in the presence of oxygen ‘

(D) To prevent the soy sauce fl@n g a strong vinegar taste, oxygen must

be supplied in the fe n tank

In India, Environ t@nct Assessment report of a proposed river valley

project aﬂa;; en clearance i,"'.pplicable for a maximal period of how

many yea \ ‘ \f_7¢__. Cok .

(A) 2 - (B) b

(© '30. M 10

The wavelength range of UV-C radiations is .: -
(A) 200-280 nm (B) 180-240 nm

(©r 320400 nm (D) 240-300 nm

TBC : YRS/JS0/2023 TR .
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T
43 The dye rosinate of methylen, blue belongs 10 which group

(A) Acidic dys (f Dasie dye
(C) Neutrnl dye (D) Ozxnzine dy®

44. The mource of energy of the aun i, . @
(A) Nuclear fission (B) cal reaction

(@/Nudonr fusion

1.lc'lwt.:mlec:trir: effect
45. Natural source of pol_vc):i natic hydrocarbons (PAHs) iy .

@ - (B) Anaerobic bac;,erig

(D) Grass fires

46. In which of the following districta of Himachal Pradesh, the Nako Laks is

located ?
(A) Lahaul-Spiti &B( Kinnaur

(D) Kullu

14




47. Of the following 1. place does the Sutlej river touch the Kullu district

' 4
of Himachal radosh

(A) Nirmand (RT” Bhuntar
(C) Nnggnr (D] Seobn
48. Of the following districts of Himachal l'ul:h had the highest female

sex ratio nccurdms to Census-201

o — T

(A) Shimla tm Kinnl“r

[G.’)/Lahaul-Spi i (D) Kangra

%
49. %is@nﬁng places of Himachal Pradesh is not matched correctly

with its district 7

(A) Darchu-Lahaul-Spiti (B) Bajaura-Kullu

(CJ/ Killar-Mandi | (D) Lippa-Kinnaur

TBC : YRS/AJSO/2023 15 P.T.O.
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wnn highost an por ite Heonomle Saevey 2022.2:1 7

(A) 2018-20 W 2.2
(C) 2022-23 Cn 2018490

THC ;: YRSAISO/2023 1]
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A) Sirme=mr

(A) Labaol-Scxu

(C) Ezlia
TEC : YES/JSOZ023

PTO.



67 Consider the followin® about Nhays, pytt Shastri, o Sanskrit Scholar of Mang,
(Ilimachal Pradesh) !

() He translated Shrimad Bhagavad (eeta In Mandyali.

(i) He nlso tranalated the Upanishad and Vedis llosophy in Mandyal;
(iii) He was awarded the highest awa Sngar by Sahitya Academy
in New Delhi.
2

Choose the correct answer from, the following codes :

. #
-

(A) (i) and (i) + (B) (4i) and (ifi)

(DY (iii) only

. (A) Panchvaktra Temple-Mandi
{(B) Maheshwar Temple—Kinnaur

(C) Jatoli Shiva Temple-Solanv




69. Which of the following 1" """ "1/ x Mandal movement of Himachnl Pradesh
{s nmot matched correctly w110 " hidriet 7
(A) Daulat Ram Sankhyan Diluspur
(_Bmim Singh Pal-Kullu
(C) Karam Singh Thakur-Mandi O
(D) Surat Singh Vaid-Sirmour
60. Which of the following is corre e Har foro Har form of marriage in Kinnaur
(Himachal Pradesh) 7 _ .
'(A) Enticing away +iﬁe ; i

Himexam.com

(B) Arfnn
( Forci N away the bride o
) M e with wife's sister

61. The Sukh-AShmy Sahayata Kosh has been set up by the Himachal Pradesh

government by keeping a sum of Hs. ....... o
(A) 51 crore (B) 75 crore
(GAOI crore .. (D) 1B1 crore

TBC : YRS/JS0/2023 19 . P.T.O.
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62. The district of Himachal Pradeah, which has the lower Violent Crime Index,

an por the District Good Ujm"‘ﬂlngg Indox-2021 :

—

(A) Shimla (B)~I{amirpur

(C) Solan ‘ (D) Chamba

. The districts of Himachal Pradeah where no s tourists nrrived in the

yenr 2022 : .

tM/E;illlpur and Hamirpur

(C) Mandi and Hamirpur .

&, Economic Survey (Himachal Pradesh), 2022-23 ?

(B) 1855

(C) 1792 (D 1836

In Khelo India Youth Games-2022, Himachal Pradesh did not get more gold

medals than which of the following states ?

(A) Andhra Pradesh ' (B} Assam

Ml/ Chhattisgarh
20




66. Which of the following 11~ CUa of Technology won Innugurntad in

1951 7

(A) Madros (Chennai)

BT ¢ Kanpur

(C) Kharagpur ‘ 0

(D) Bombay (Mumbai)

67. Which of the following was pléd Andia at the COP-26 (2021), Conforence

- T

v ' ? i R RO oy
held in Glasgow (Gr tain) ‘rogarding bringing an ond to all
emissions 7
(A) By ?\ t[!( By 2070
(C) B Q . . (D) By 2060

68. The total Schedules in Indian Constitution are :

(A) 10 T @y

(C) 14 ' 0/12

TBC : YRS/JSO/2023 21 " PTO.



Ho.

70.

71.

Which of the following In correct lllmm_“o“ 7
(A} It wnn confarred ntatohond jp {11
(1) It han n foroat covor of 26 pe,

(C) It hna no wildlifo sanctunry

e
(1) It wan liborated nnd later mad, compénite on Territory with Daman

and Diu in 1071 .
Which of the following count llockoy Team was defeated by Indian
team in the Final Aninn ons Trophy-2023 7 |

(A) Pnlr.utnn @ (3) South Korea
(C) China \ fD/Mn!nynla

Which of the following countries has not sent the manned mission to

space 7
&) USA.) (B) Ruseia
(C(Gunt Britain (D) China

| TBC : YRS/JSO/2023 22




72 The number of Nations which wi Vel NATO_ upto March, 2002

s -
(A) 27 T
(C) 29 S gy

3. Who defeated Novak Djokovic in Wimbledon, _e on'n Hingloa in

final ?
lm/énrloa Alcaraz (B) r’;odowr
(C) Boris Becker nel Nadal

74. Which Hlméﬂmrﬁ)unma i.. m;ghod oo-mcuy‘lwil.h-iu continent 7
(ﬂ/Srrin-Aain @

(B) Monaco-Africa
&
(C) Vatican-
(D) Costa -North America

75. How many bridges do the Amazon, the second longest river of world have over

——

it ?
(A) Five 4By Seven
(C) Four (D) None of theso
TBC : YRS/JS0/2023 23 P.T.0.
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PART.I
m'chrmlttry)

6. The nucleus of 8n atom is locateq ,, . _ y =z =0 Ifthe prbhlbﬂi!yofﬁnd
tng
an s-orbital clectron in 8 YNy Yolume.around x = 0, ¥ =2 = 0 is 10 « gt
the probability of finding the electron in the sdmysized volume .
.mﬂd

.’-:-O.ygdi’:

(A) Zero

G

(©) a %a?

77. The density of CaF (fluori o) is 3.18 g/em®. The length of the 4o,

of the unit cell is :
{‘UL) 253 m@@ . (B) 344 pm

(D) 273 pm




&1.

TBC : YRS/AJS0/2023 25

Amhg.wmb‘ A an electron Soppese they

t!‘thh.w]c\'l‘ﬂ" ~ngths co=pare *
) Ll - l' i, .
@2, 22 - Ay
Ifmekmhkmlmmﬁm.n lnlslhlnoﬂnl
htflznz,lhfﬂlitiﬂdl‘diltmb‘,. given by ©
A) S&SR (B)
() 6R
@
Which of the following with the same veloaty would be
assoczated with the smallest wavelength 7
- —— TSI
(A) Hydrogen z Oxygen mwolecule
(C) Helinm m@ (D) Nitrogen molecule
Which is the node for all orbitals 7
®
(A) 1,3y, ' (B) xv plane
© >
The threshold wavelength for photoelectric emission from lithium, above which
no electrons are emitted, is 520 nm. Calculate the velocity of electrons emitted
as the result of absorption of light at 360 nm.
&) 6.1 x 10° ms? @B) 3.1 x 10° ms~!
(C) 6.1 x 10° ms™! (@31 x 105 ms}

P.T.O,



He

n, wl
Amonget the follow Ini nolds, Heh g the lowest pin value 7

(A) m-NOyCy1, €00 N0, CO0T

() Pheoon (OF MO, COON

W ncen
Generntion of carbone cnn 1 Mplinhed by -

(A) Photolysin of kotond (1) Photolysin z0methane

(C) Reimer-Tiomann enction (D) Al of @

Arrange the following in incrensing ordyr nfCJivity towanrds l’"‘”‘*mlim

CIl, o1l

Or
® ®+ (i) Ej |

- '"'"’-'-‘"!:? (it > (iv) @) (i) > () > ) > Gii)
(© () > () > Un) > (iii) M) (i) > () > i) > (iv)
jf 'I'chm 26
: . v— : - |
| T



87. Which of the following alkanes ha ¢y .

(A) 3-Methylhexane )~ Leopentane
(C) 3-Methylpentane D) Neopentune
88. Sn2 reactions nre considered as : C)O
(A) Stereoselective Reactions ( reospecific Reactions

(C) Both (A) and (B) Regioselective

i g ———
\ > 4 ”~ .
89. Predict the products X @ ormed in the following reaction :

OH

* COOII

| metivity ?

- e

2N o x

1,0 uq. 70% 1INO;

(A) X = o-nitrophenol; Y = p-bromophenol
as‘i’x = 3-nitrosalicylic acid; Y = 4-bromosalicylic acid
(C) X = 5-nitrosalicylic acid; Y = 2, 4, 6-tribromophenol

(D) X = p-nitrophenol; Y = o-bromophenol
TBC : YRS/AJS0/2023 27

P.T.O.



o0 There are

stion grs -
~
. en

s be P"”:M:M' sy,

mWﬂ&wmm3QMChaﬁ

) X
(A) It is good for hydrolysis type reactions

(/)ukapodmdthemhm
(C) It can act 8 a base

' ~ - ;@;u':h:é'- a free radical initiator

»

' _*‘, NP A =R 23



02

. ndar
Upon reaction with benzene, which of ¢, following o not 1o

Isopropylbensans ax the product

A 4

(A) (CH4),CHCIAIC], B cyerr, M
(C) CH,CH=CH/H,IO4 (D) (CHy)CmC s
Clansify the following reaction as : c)
@
NH,*(CNOY- N— C—NI;

1
]
O ——
(A) Substitution + (D) ,B-lgrlﬂtﬂ“"“
@' pmmme

{C) Redox

A g
Which of \

- - ?
ing wtaterents is true for the species given below

= e
- L \"' 3
N,, CO, CN™ and NO s ...-{—'
A 3" ot B 4

(A) All the species are paramagnetic

A i
,un/ All the specics are diamagnetic
(C) All the species have dipole moment

(D) All the species are linear

TBC : YRS/JS0/2023 29 P.T.O.



Which one is nof n correct Matomen, 2

, 05,

(&) Bond length in N I8 lean gy,

(3) O, han lower dissocintion Cnergy than O}

(C) Ng has greater dissociation ®nergy than N&

(D) Bond length in NO" is leas thyp & b A
i "{fi‘ A~ 11
I . . 3 ies P [ 7/‘

96. Which of the following species arg o etic 7

| v - JEE
(ili) Li, @ -f(w) N3
+ (BY (i), (éi) and (iii)

* (D) (i), (i) and (iv)

(A) (i) and (D)

(C) D, ), (g

- >
: : &5
- Which o species has unpaired electrons ? 1 n ot
-~ )
W o
Lise 3
Lo s e
@ o7 .
ﬁiﬂ--‘:q;f,
(A) (@) only (B) (iid) only
L ey o ey AT
(€) () and (iD) cnly ) (D) () and (ii) only

TBC:YRSIJW 30°



88. The corrvet siatement AMONRE th, following Is

100.

' cithoal ining
(A) Salt bridge allows current (o oo 40 woen the fioe! thaout m

the =olutions

' . the two half cells
(B) Salt bridge is required for the mixing o, don in the tw

lC1/Sllt bridge enhances the rate of the ction
e

(D) Salt bridge consists of a nofp.clcetrolyte in n gel

each face

A substance A, D, crys 1 neo-centered cub_i_c‘ (f (EQ_)#M_!.

cube .md atoms ‘B° occupy the centres of

position of the substance AB, -

‘A’ occupy each co

of the cu:w ify correct com

(A) J\‘ \ ‘ WABS
(C) A, [§9)) A293

By how much will the potential of half-cell Cu?* | Cu change if the solution

is diluted to 100 times at 208 K ?

(A) Decreases by §9 mV (B) Decreases by 29.5 mV

(€ Increases by 29.56 mV (D) Increases by 59 mV

s L P.T.O.



PART-I1

(n..snvlroﬁrnentnl Science)

76. Which of the followin® i® considered the most effective approach to "d“dng

R

greenhouse gas emissions ?

(A) Increasing rengwable energy Production C)O

(B) Implementing carbon capture and §tarage technology

N/
(C) Promoting ecnergy efﬁcienc;% nservation

(D) Adopting nuclear po s’the primary energy source

What is the

of coral bleaching in marine ecosystems ?
(A) Overfishing and destructive i?shing practices

(B) Poﬁution from industrial activities and oil a]:_lills

(C) Ocean acidification due wmmased carbon dioxide levels

i

(D) Rising sea temperaturéd caused by climate change

TBC : YRS/JSO/2023 : 32




- o

78. What is tho main purpose of nn L —— assessment (EIAY ?
ontal imp

. (A) To nssess tho economic &'ﬂ"ibil,'l’. of s dudiait project
n develop

(B) To evaluate the potential nmi"’hmonm sequonces of n
* con

(B) It is formed by the coali lidification of molten mafggfl.f?,‘ -
(C) It is a rock, that hn+|;one intense heat and presmrﬁ -
(D) It is primarily @Bﬁl of organic remains =
; ¢ N . ral gas from shale
80. Which of e\ ing is a technique used to extract natural g
formati
(A) Fracking (hydraulic fracturing)
(B) Strip mining ’
(C) Open-pit mining ’r :
(D) Solution mining {
- r " 4
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K1 What is the term used 0 describe the gry,y 0 o ying of Earths crustin rey,
tim (.

s |
to the removal of larg® amounts of Rroundwaler 7 /
(A) Subsidence ) uplin

(C) Erosion (D) Faulting
82, Which 1SO standard is focused on energy managdment, systems ?

(A) ISO %001 (B) IS@1

(C) ISO 27001

83. Which GIS data model represe.@;

al features as a series of points \inea

~ and polygons ?

(A) Raster dnta el (B) Vector data model

(© TOW model (D) Network data model

84. Which of the following causes warming of atmosphere but cooling of the earth's

surface 7

(A) Ozone (B) Black carbon aerosols

(C) All greenhouse gases (D) Sulphates and nitrates
| TBC : YRS/JS0/2023 34
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I

85. Asphyxiation is caused by :
(A) HCN, CocCl, B No
x

(C) CHCl, D) AsH,

86. The main source of Dioxins is : @

(A) Incineration | (B) @ﬁlls

(C) Agriculture refuse burmn '+ Read h'-ansr""t mﬂ;*,—ﬂvﬂ
87. What is the prima ﬂ*!-vaponnble i.r the formation of karst topogT aphy,
cludmg ;d caves ?

@hm

(B) Glacial erosion

——l
.

(C) Chemical weathering of limestone

(D) Tectonic plate movement

-y v
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B Wi 1. the primnry rirpose of oy ’mnm,"uul audit 7
Ny

(A) Idontifying potential MVUrCon of jollution
L

(D) Al of the above C)
RO. :

When snimnla advertise that the $xious or dangerous by bright,

Conspicuous colours and patte

(A) Aposematism + /tm Cl'nma

(C) Mimicry (D) Allelopathy

90. Whatilc*\v ?

(A) It's x levied on jet and shipping fuel to finance climate change

mitigation '
(B) It's a tax levied on carbon fuel
(C) It's n tax levied on production of fossil fuel and coal

(D) It's a tax levied on production of coal only

TBC : YRSAJSO/2023 %



41 The Chonchu people [n Indin have by, éiive vactfon of wilitifn I which
o In protoc

among the fullowing protected arey, lndin 7
(A) Nognrjunamngar Helanllam (Andy,,

(1) Bimilipal (Odinha)

(C) Indeavati, Udanti-Bltanad (Uhhnm,‘“mm

(D) Palamu J hnfkhnml} O

92. Muna paramjitiana in a spoclon of which fg
k4

(A) Wild banann ild apple

(C) Wild papayn @lh Wild guava --_-_;-}?f...

93. Which of the followin v/are cornetly matched 7

Pollutant D i wer
%
(1) Arson \ Bkin Cnncor

(2) Lea Itai-Itni

(3) Cadmium Dyaloxia

Select the correct anawer from tho I‘ollo;inl' codos :

(A) Only (1) (B) Only (1) and (2)

(M) (1), (2)°'and (3)

(C) Only (2) and (3)
37 § P.T.O.
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patitution wer
P4 The provisions of environmenyy) Metaction I8 (he (Con

under

. .

(A) Articlo 6-A

(B) Article '1-B

(C) Article 27-B (h) 0

(D) Article 48-A and Article 5. A

95. Rachel Carson pointed out t@- ers of :

(A) Scil Erosion @ t (B) Malaria

g

(C) Cli (D) DDT
96. Which%d’tha followin reflects more sunlight as compared to other
three 7
(A) Fresh snow ' (B) Sand desert
(C) Paddy cropland . (D) Oceans

TBC : YRS/ S0R2023 a8



97 Basel Convention mainly deals with
(A) Biological diversity
N (B) Hainrdous wastes and their dinpu‘h
(C) Persistent organic pollutants
(D) Ozone depleting O
98. What is the full form of ENMOD ? C)
U
(A) Environmental Middle Conv
(B) Environmental Modifi L@wenﬁon
i o St
(C) Environmental Centre
-
99. The mou \ mes are called :
(A) obiomes | (B) Orobiomes
(C) Lithobiomes (D) Pedobiomes
100. Modern concept of sustainable development focuses more on :
(A) Economic development (B) Bocial development
(C) Environmental protection (D) All of these
TBC : YRS/JS0/2023 39
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76.

77.

78.

79.

Ay,

‘C-M"‘mhloloﬂ’
sence of
The biodegradation of plant Maloria] g alow bect""S of W =S

(A) Lignin @ Xyleno B

* (C) Cellylose (D) Pro

. . tment system is :
The widely used acrobic SUSpension tyre @ waste trea

(A) Percolating filter

(B) Septic tank

(C) Rotating Bmlog:cal% JRBC)

(D) Activated aludge

Common in‘li o anism of water pellution is :
N\ Himexam. com
(A) ueicostata (B) Esekerichia coli
(C) Eichhomnia crassipes (D)  Entamoeba histolytica

Which of the following organisms is nitrogen-fixing and found in rice fields

In symbiotic association with Azolla ?

(A) Frankia (B) Tolypothrix

(C) Spirulina (D) Anabaena

TBC : YRS/JS0/2023 40




80. Which of the following organisms jy in alcoholic fermentation 7

81.

(A) Pseudomonas (H) Aspergillus

(C) Saecharomyces ) penicillium

Which of these bacterial COMPONenty iy least 1y %o contain useful

lﬂﬁﬁm.? . e O

(A) Cell wall (B) FCJB

L2
Capsule 25
et it \

d |
2 teria is due ‘to the

(C) Ribosomes

The association of endot@s grum-negative bac

presence of : @

(A) Steroids, (B) Peptidoglycan

(C) Li gaccharides (D) Polypeptide

Which of the I!'o]lowing enzymes in bacteria are responsible for restricting the
growth of viruses ? . ‘ :

!

(A) Restriction endonuclease (B) 'i'ppoiwmarnw

(C) Gyrase (D) Protease

* . YRS/JS0/2023 41 . P.T.O.
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84. What discase in caused by Coxielly 3, rnetii 7
L[]

Himexam.com
(A) Q Fever

(C) Diphtheria ing pneumania

85. Which microbial virulence factor iy most im attachment to host

respiratory tissues ? < ’

(A) Adhesins ‘popolysaccharide

/
(C) Hyaluronidase * @CDJ Capaules

86. Which of the foll for Gram-negative bacteria ?

%

(A) .UPO" atment, the permeability of the cell wall increases

(B) Crystal'violet-iodine (CV-I) complex ia extracted
(C) Pore mize decreases and the CV-I complex cannot be extracted

(D) Alcohol treatment increases the permeability of the cell wall and the

CV-I complex can be extracted

TBC : YRS/AJS0/2023 42




87. Lactase enzyme can be immobilised s, used s =t ctose-freo milk. What

are the products of the reaction cayy by lactaso 7

(A) Fructose and glucose B) Pructose and sucros®

(C) Galactose and fructose D Calact
88. Which statement defines cloning ? &

(A) Making offspring identical to one p

’ -
(B) Producing identical plants a imals by natural or artificial means

© Pmdudns genetically @mpm of an indnndulh"““f""'n'

'r -

(D) Splitting emb twins

89. Which phage i or phage display technique ?

N\

(A) (B) Mi3

(C) A-phage D) 46

90. The bacterial genus where sterols are prf‘n;antm the cell membrane is :

i

(A) Vibrio (B) Mycoplasma
(C) Escherichia () Chlsmydia
TBC : YRS/JSO/2023 TERN PTO
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81,

92.

93.

TBC : YRS/JS0/2023

je cells
Prokaryotic cells are more resintang |, e shock than eukaryot
l’“‘ﬂ“" . ]’
\

(A} Their cell wall is composed peptidoglycan l
'.
i

(B) They are selectively permeab),

(C) They contain osmoregulating poring O

(D) They block water molecules from .entering the cell

(B) Staphyl pidermidis from Neisseria meningitidis
(C) Stre es from Enterococcus faecalis
(D) Streptococcus pyogenes from Staphylococcus aureus

The bacterium that infects other gram-negative bacteria is :

(A) Proteus mirabilis (B) Haemophilus influenza

(C) Bdellovibrio (D) Pseudomonas putida

44




B4,

5.

Which of the following

mm.n‘ .
it not responsible for unnary tract
infection ?

(A) Proteus mirakilis (
K o .
l ! Eacherichia coli

Which of the Wﬂt&iﬂ!suuctnmmmpmaddh'm‘dd
and N e ?

(A) M (B) Amoeba

(C) E. coli M) Spheroplast

Which of the following is a gram-positive eubacterium ?

(A) Actinomyces (B) Clostridium
(C) Rhizobium M) (hri:lm, actinomyces
YRS/JS0/2023 45
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s’
B8 Which of the following in/are the oym g of Dlack fFungy

(1) Facial Swelling
(2) Nasal Congoation

(3) Headache

(A) Only (1) 2 B (3)
4@
99. (1) When a virus does not chands ; led a mutation.
' /

(2) A virus with one or mo mutations is known as a “yariant” of the

original virus. @ P

Which of the, fi statements is/are correct ?
(A) On {B) Only (2)
(C) Both (1) and (2) (D} Neither (1) nor (2)

100. Molds causing spoilage of eggs include species of :
(A) Cladosporium (B) Mucor

(C) Thamnidium (D) All of these

TBC: YRS/AJS0O/2023 46
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